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1. ' STHA-oT’ SR g7 I Hal 319 I B

(A) Tor 9g-7a (B)  forT Hea- e St (C) TorT HeA-Teh g
(D) o Ha-aema (E) A7 9w
2. Select the most appropriate option to change the given degree of adjective in the sentence to its

comparative degree in the following sentence, without changing its meaning :
Arjun is the best boy in our class.

(A) Arjun is better than any other boy in our class.

(B) Few boys in our class are better than Arjun.

(C) No other boy in our class is as better as Arjun.

(D) Arjun is best than all the boys in our class.

(E) Question not attempted

3. Match List-I with List-II.

List-I (Word) List-II (Antonyms)
(a) Munificent (i)  Decline
(b)  Jubilant (ii) Heterogenous
(c)  Accept (iii) Miserly
(d) Homogenous (iv) Gloomy
Choose the most appropriate answer from the options given below :
(A)  (@)-(iv), (b)-(iid), (c)-(i), (d)-(3) (B)  (@)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(©)  (@)-@), (b)-(i), (o)-(iid), (d)-(iv) (D) (a)-(i), (b)-(), (c)-(iv), (d)-(iif)

(E) Question not attempted

4. ‘oW IR frAfafed § @ fora wma & faw wge drar € 2
(A) U@ R T (B) 39 & &% 1 9L | (C) HeAT o1 9 |
(D) <YL HHY | (E) oTgaRa o

Read the following passage and answer the questions that follow :

Like Aranmula Kannadi, Balaramapuram Kaithari saree, Killimangalam Mat is Kerala’s indigenous
heritage product that needs to be marketed globally.

The century old tradition of making mats from the Kora grass that grows abundantly on the banks of
Chittur Puzha is dying without any takers in the market.

Sindhu has been making mats for over a decade now and says she had joined the profession as she
found the craft fascinating.

The craft of weaving is highly labour intensive and the raw material is costly.

The matured grass is first harvested by the locals and they dry each blade of grass in the sunlight after
removing their tissues. The dried grass is then transported to the village for around Rs. 300 per kg as per
order. At Killimangalam it again undergoes more treatment processes, including washing, dyeing and boiling
before they are sun dried again.

The dried grass is then placed on the handloom and fashioned into intricately patterned mats by the
deft fingers of the weavers. An artisan takes a minimum two days to weave a six-feet-long plain mat without
any designs on it. The mat is so tight that nearly 2 kg of grass is requried to make it. It is the boiling process
which makes the mat last for more than 25 years and the dye remains intact. For this reason, the finished mat
is a bit expensive and their clientele consists of mostly upper middle-class people and business establishments.
A plain mat costs Rs. 2,500 and a designed one can cost up to Rs. 10,000.

They used to get moderate commission from the sales of the mats, which had fairly high demand,
especially outside the state and exhibitions were a great way to connect with customers. But with trade
shows taking a hit, their revenue streams have been drying up.
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10.

11.

Sequence the following statements in their logical order and choose the most appropriate answer from

the options below.

(a)  The finished mats priced between Rs. 2,500 to Rs. 10,000 are now ready for being marketed.

(b)  First the matured grass is harvested and after removing their tissues, they are sun dried.

(c) Itis then transported to the Killimangalam village where further treatment processes including
washing, dyeing, boiling and sun drying are done.

(d) Today the exquisite mats from the Kora grass are dying for want of takers, so it would be worth
while to examine the process of making them to save them.

(e) Itis then placed on the handloom and woven into intricately patterned mats by skilled weavers.

Choose the most appropriate answer from the options given below :

(A) @) (@), (b), (), (d) (B) (b), (d), () (a), (e) © (@ ®), © (@), ()

(D) (), (d), (a), (b), (e) (E) Question not attempted

Complete the statement/sentence below choosing the most appropriate answer from the options below.
Kerala’s indigenous heritage products that need to be globally marketed are

(A) The Aranmula mirror, Balaramapuram handloom saree and the Killimangalam Mat

(B) Kerala cashew products

(C) Kerala coir products

(D) The Kochi Chinese nets

(E) Question not attempted

Complete the sentence below choosing the most appropriate answer from the options below.
The Killimangalam Mats of Kerala are expensive because

(A) the raw material is costly and the craft of weaving them is labour intensive

(B) they are not of intricate designs

(C) Kora grass has become extinct

(D) they are made from Kora grass

(E) Question not attempted

After two days of intensive labour, a mat weaver produces
(A) a five-feet-long tight mat

(B) a six-feet-long plain mat without designs on it

(C) a colourful mat with designs on it

(D) a six-feet-long plain mat with intricate designs on it
(E) Question not attempted

The Killimangalam mat is tightly woven requiring nearly 2 kg of grass and lasts

(A) more than 25 years (B) more than a life time (C) hardly 25 years
(D) almost 25 years (E) Question not attempted

senfe s’ form €y 1 U YR e ?

(fr=1 5 @ wa@ Suga faswed 99)

(a) ®R (B) forer ©

(D) =S (E) STqaRa wed

Select the most appropriate option for the translation of the following technical terms :
Gazetted Holiday

(A) TR TR (B) ST STereRTSl (C) TIH{eh STerehrsl
(D) Fifa sTernmT (E) Question not attempted
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12.

13.

14.

15.

16.

17.

Select the option that is normally not a feature of a formal letter.

(A) Quotations (B) Clarity of language (C) Precise subject
(D) Salutation (E) Question not attempted
Geit-1 & w1 G -11 1 e s
get-1 (ST 91e% ) TEt-11 ( TuTTeie & vreg )
(a) HONORARIUM (i) S
(b) ILLICIT (i) UM
(c) EXCAVATION (i) TEA
(d) GRATUITY (iv) fifvs
= faw 7T ferhedl # | waiferes et ST H1 =9I T :
(A)  (a)-(id), (b)-(ii), (c)-(), (d)-(iv) (B)  (a)-(iid), (b)-(iv), (c)-(1), (d)-(iD)
(©  (a)-(id), (b)-(i), (c)-(iv), (d)-(ii) (D) (a)-@), (b)-(ii), (c)-(iii), (d)-(iv)
(B) TR ¥
fefafed H 9 - IR AR AL T :
(A) SR-Te (B) ¥E-9R (C) e
(D) SMU-ER (E) ogaRa g
Fill in the blank with the most appropriate Preposition from the options given below :
There was a long queue of people __ the post office.
(A) over (B) from (C) at
(D) by (E) Question not attempted

“foraTs =1 TeaTSTt ¥ ST e aTel’ eyl o foTt Wek 91eg R B ?

INIRELS! (B) 3TRa& (C) ™
(D) w (E) STgard oo
Geit-1 & a1 G -11 1 e wifse )
-1 (qEre ) ei-11 ( 21ef )
(a) T W AL A () I8 9 T 9HeE
(b)  3¥efi 1 wredt S (i) G o g
(c) IS I VBRI S (iii) HfeT IR THIG HE HEA
(d) R % 3 F (iv) STIHIEH B
T X T faehedl & € Waiteeh SUFeR I H1 997 HITT :
(A)  (@)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (B)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
Q) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii) (D) (a)-(id), (b)-(iii), (c)-(iv), (d)-(i)
(E) STand o
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18.

19.

20.

21.

22.

23.

Teit-1 < 91 G -11 1 e S

Heit-1 (9HE) Heit-11 ( fergrerar )
(a)  STRITvE THE () 9 EH A e yuE A
(b) TR THH (i) TS99 99 H1 SHWEE T4H
(c) Eg&aH (it) TS A" & AT G 9™
(d) g FHH (iv) 59 998 %1 74 T 9uH

= fRu e foshedl # | waifire SuFgeR ST 1 T HiTT :

(A)  (@)-(i), (b)-(iii), (0)-(), (d)-(iv) (B)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(i)
©)  (@-(v), (b)-(i), (o)~(iii), (d)-(i) (D) (@)-@), (b)-(iv), (c)-(iii), (d)-(i)
(E) STaRd v

Select the most appropriate option using the correct Prefix to the underlined word in the given sentence.

The airline graded me to the business class on my return trip.
(A) out (B) wup (C) mis
(D) in (E) Question not attempted
Geit-1 o |19 GeHt-11 1 fiem s

-1 (91%) T -11 ( TaiEar= )
(a) T () HIRH
(b) 3] (i) T
(c) (iii) SR
(d) Ffea (iv) 3T
= R T foaehedl # © waitereh SuFer ST 1 99T HIT :
(A)  (@)-(@v), (b)-(D), (c)-(iid), (d)-(iD) (B)  (a)-(iid), (b)-(1), (c)-(iv), (d)-(i)
(©)  (@)-(), (b)-(1), ()-(iv), (d)-(iiD) (D) (a)-(id), (b)-(1), (c)-(ii), (d)-(iv)
(B) TR ¥
‘FeT-Te vsg frefafaa # | forg e 1 s § 2
(f=1 9 9§ wa@ Suga faswed 97)
(A) I sgek foran (B)  3TSehIYl sgeh okl (C) =31 sliwreh fohan
(D) IfTen foham (E) orafd e
Fill in the blank choosing the appropriate Article from the options below.
I think it is going to rain. Doyouhave _ raincoat I can borrow for a couple of hours ?
(A) no article (B) a (C) an
(D) the (E) Question not attempted
Teferiea o | - wsg * 31" 3o @ fiHd @ 8 2
(A) 3V (B) a7ed (C) 3wy
(D) WM (B) o7gaid wed
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24. Match the words in List - I with their definitions in List - II.

List - I List - IT
(a) Ergonomics (i)  Automatic translation by identification systems
(b) Biotechnology (ii) Connecting electronic devices to each other with no wires
(c) Artificial Intelligence (iii) Design of environments for people to work efficiently and
comfortably
(d) Bluetooth (iv) Genetic modification of plants
Choose the most appropriate answer from the options given below :
(A)  @-(iv), (b)), (©)-(ii), (d)-(iii) (B)  (a)-(i), (b)), (0)-(iv), (d)-(ii)
(© (@), (b)-(), (O)-i), (d)-(iv) (D) (@)(i), (b)-(iv), (c)-), (d)-(ii)

(E) Question not attempted
25. frefafed & sws fafea w= ®

(A) 3uH (B) wmeed (C) e
(D) I (E) STgara

26. TG A TEA=RT
(A) WM (B) Frema (©) I

(D) oTfi¥ieaR (E) STafa o
27. ‘3% Tgfaa o wara Ot fen T 7 are o we SiiSt SR €

(f=1 ¥ 9 T S fased 99)
(A) Offer of appointment has been sent to him (B) Appointment letter sent to him
(C) Offer to appointment send to his (D) Appointment has send to him

(E) orgafa g

28.  Select the most appropriate option to fill in the blank in the sentence given below :

By the end of March, I doing this job for six years.
(A) will be (B) was (C©) have been
(D) will have been (E) Question not attempted

29. Select the most appropriate option to transform the given sentence into Reported Speech.
The interviewer asked me, “Can you use a computer ?”
(A) The interviewer asked me if I could use a computer.
(B) The interviewer questioned me whether I can use a computer.
(C) The interviewer asked me if I had used a computer.
(D) The interviewer wanted to find out if I used a computer.
(E) Question not attempted

30. Match List-I with List-II.

List-I (Word) List-II (Antonyms)
(a) Abundant (i) Callous
(b) Vague (i)  Scarce
(c) Admonish (iii) Clear
(d) Sensitive (iv) Praise
Choose the most appropriate answer from the options given below :
(A)  (a)-(iv), (B)-(id), (o)-(0), (d)-(iii) (B)  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(©)  @-(0), (b)-(iv), (c)-(iii), (d)-(ii) (D) (@)-(ii), (b)-(iid), (c)-(iv), (d)-(3)

(E) Question not attempted
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31. ' AR AL’ U 7 o W o1 €
(@) Hl (b) Schd () @ (d) Frehd (e) ¥
= feu U foaenedl # 9 waifies Suged ST H =99 HIT
(A) e (b) R (d) (B) e (o) ¥R (e) (C) e (a) 31X (d)
(D) e (a) 31X (b) (E)  rgaid e

Read the following passage and answer the questions that follow :

Come February, love or something like it is in the air. And chocolates fly off shop shelves. This year,
however cocoa prices hit record high.

Global chocolate industry is dominated by the “Big Five” - Hershey, Mondelez, Mars, Nestle and
Ferrero with West Africa providing most of the cacao. Cacao plants grow only 20 degrees north and south of
the Equator. Geography has made South Indian States home to unique varieties of cacao.

Cacao beans are rich in flavanol, which can lower blood pressure. This property has triggered controversial
claims about dark chocolate’s medicinal properties. Some of the research supporting these claims has been
sponsored by the Big Five. But what’s not in dispute is that cacao is rich in nutrients. It makes its downstream
products a potential superfood. But the catch is that the end products such as chocolates contain other
ingredients. Sugar or low quality oil, etc. Therefore, its the combination of ingredients and the manner of
processing cacao that holds the key.

The last decade, an adventurous breed of Indian chocolates have transformed locally sourced cacao
into artisanal chocolates. Getting the most out of cacao’s nutrients and limiting unhealthy ingredients such as
refined sugar have been integral to this journey. Vegetable oil and cocoa butter, is often used to lower costs
in mass market chocolates. But that’s not an ingredient super premium chocolates will use.

Preserving the nutritional value of cacao depends on the process used to transform it into chocolate.
That's really the key to earning the superfood label. India’s artisanal chocolatiers can get this label without
resorting to measures used by the Big Five.

India has a growing consumer base that is discerning and health conscious. Chocolates sourced and
made at home, with unique flavours that appeal to Indian and global taste buds, can do even better. If India’s
chocolatiers play their cards well, Indian chocolate brands can become super premium, exportable brands.

32. Complete the sentence below choosing the most appropriate answer from the options given below.
Indian chocolatiers have transformed locally sourced cacao into premium artisanal chocolates by :
(A) lowering prices of chocolates by using vegetable oil
(B) not using cocoa butter and lowering prices of chocolates
(C) importing cacao from West Africa
(D) limiting the use of unhealthy refined sugar and extracting the most out of cacao’s nutrients
(E) Question not attempted

33. Complete the sentence below choosing the most appropriate answer from the options given below.
Chocolates fly off the shop shelves in February because :
(A) Cocoa prices hit record high.
(B) They have medicinal properties.
(C) The weather in February creates a craving for chocolates.
(D) People gift chocolates to the loved ones on a special day in February.
(E) Question not attempted

34. Complete the sentence below choosing the most appropriate answer from the options given below.
India can become the super premium branded exporters of chocolates if they :
(A) use low quality oil and refined sugar
(B) import cacao from West Africa
(C) process the cacao as the “Big Five” did
(D) home source raw material, limiting unhealthy ingredients and add unique flavours
(E) Question not attempted
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35.

36.

37.

38.

39.

40.

41.

Complete the sentence below choosing the most appropriate answer from the options given below.
The “Big Five” in chocolate Industries are :

(A) Nestle, Ferrero, Mondelez, Cadbury and Hershey

(B) Mondelez, Mars, Hershey, Ferrero and Nestle

(C) Ferrero, Cadbury, Mondelez, Mars and Hershey

(D) Cadbury, Hershey, Mars, Mondelez and Nestle

(E) Question not attempted

Match List-I with List-II.

List-I List-II
(a) Chocolatiers (i) Items combined to make a particular food or drink
(b)  Artisanal (ii) Those who make and sell chocolates
(c) Discerning (iif)  Skilled
(d) Ingredients (iv) Showing good judgement
Choose the correct answer from the options given below :
(A)  (@)-(iv), (b)-(), (c)-(i), (d)-(iid) (B)  (a)-(1), (b)-(ii), (o)-(iid), (d)-(iv)
(©)  (a)-(d), (b)-(iv), (c)-(), (d)-(iD) (D) (a)-(i), (b)-(iil), (c)-(iv), (d)-(1)

(E) Question not attempted

Select the most appropriate option to fill in the correct form of verb in the following sentence :

By November, next year she her second book of poems.
(A) had completed (B)  will have completed (C) has been completed
(D) completed (E) Question not attempted

Choose the most appropriate statement in comparative degree from the options provided, for the
sentence given below :

Kerala is the greenest state in India.

(A) No other state in India is greener than Kerala.

(B) Kerala is much green as any other state in India.

(C) Most states in India are greener than Kerala.

(D) Kerala is as green as any other state in India.

(E) Question not attempted

‘ST g T TR ST Bl SR R T Hefeh IR |

(A)  FHEHEd (B) haifErd (C) ShATTA
(D) F=fEE (B)  STgaRa v
Tafgert Wl o HeY H 21T forehed 1 59 shifew |

(a) SUHT - WG, T, T (b) =i=Hl - TeHiy, fewehy, Thw

(c)  ftreht - afiferee, fehdl, graepeddl (d)  HeRGH - Hehis, 3TT9d, HYETA

(e) T - fepma, Hre, wfufa

= fRw e foshedl § § Gtk Suge ST 1 T HiTT :

(A) e (b) 3 (e) (B) ke (c) 3T (d) (C) ke (b) ¥R ()

(D) e (a) 3R (d) (B) SFIafd wed

Select the most appropriate option to fill in the blank by using the correct degree of adjective :

I think the mango is fruit. I can have as many as four at a time.

(A) ahardly delicious (B) the more delicious (C) the much most delicious
(D) a delicious (E) Question not attempted
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42, 'HIE AT TR T T S A9 o G TS Tl 1 =9 hifed |

(A) No action is necessary (B) Not any action is Compulsory
(C) The action is expected (D) The action is necessary
(E) STIaid oA
43. Match the blanks in List - I with the most suitable Preposition from List - II.
List - I List - IT
(a) I often use honey as a substitute sugar in my tea. (i) upon
(b)  His style is faintly reminiscent Piccaso. (i) to
(c)  She is intent tarnishing my reputation. (iii) for
(d) He had to reconcile the fact that his father (iv) of

would never return.
Choose the most appropriate answer from the options given below :
(A)  (a)-(iid), (b)-(1), (c)-(iv), (d)-(iD) (B)  (a)-(iid), (b)-(iv), (c)-(1), (d)-(iD)
(©)  (@)-(@v), (b)-(i), (c)-(iti), (d)-(1) (D) (a)-(i), (b)-(iil), (c)-(iv), (d)-(1)

(E) Question not attempted

44. Choose the most appropriate Prefix to complete the underlined word in the given sentence :

The risks far weigh the potential benefits of an open book examination for senior secondary
students.
(A) out (B) mis (C) re
(D) over (E) Question not attempted
45. G-I % |1y Feit-11 1 Hae SIS
GeAl-1 (9Ts5& ) T=i-11 (3 )
() Wk G ™
(b) fRu ) T
(c) Ff= (i) TR
(d) wfd (iv) 9fd
= fRu e foshedl # § waifireh SuFeR S 1 =T HITT :
(A)  (a)-@v), (b)-(0), (c)-(ii), (d)-(iii) (B)  (a)-(iit), (b)-(ii), (c)-(1), (d)-(iv)
(©)  (a)-(i), (b)-(1), (c)-(ii), (d)-(iv) (D) (a)-(@iv), (b)-(1), (c)-(ii), (d)-(ii)
(B) A ¥
46. Complete the sentence given below with the most appropriate word from the options provided.
The weary commuters through their evening newspaper while waiting for the train.
(A) rifled (B) riff (C) rift
(D) riffled (E) Question not attempted
47. frafafed o 4 691 v 9 foRmu s S g R
(A) TY-TRISR (B) fawT-faer (C) THI-TIE
(D) I (E) g e

48. ' ST I HHg UM’ HETeR 1 31 ¥
(A)  STAT o= Y T T BT HT (B) HHZ o S I T
(C) TH™E HE T (D) ¥ itehd 9 &
(E)  STgaRa s
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49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

1 + ™ = ‘e’ T visg Ta=fafaa § 9 forg 9@y o1 e g ?

(F7=1 o & werd Suert forehed o)

(A) (B) (©) fowr

(D) ®RH (E) rgaia 9o

‘ot T 3HE wer Tl S| A foRd A’ § gt § 2

(f=1 5 & o Suga fashed 94)

(A) T (B) hdiarsA (C) =r=a foran

(D) ke (E)  oTIaRd ged

Choose the most appropriate Prefix to complete the underlined word in the sentence given :
The patient hasn’t complained of any comfort .

(A) un (B) under (©) dis

(D) mis (E) Question not attempted

‘T % UG T ARG S0 wlehifaR o 19 T

(A) STEFE 91 (B) =i T qHied (C) 9gd Jarted e
(D) Tt s fehrer (E) Agaid g

Select the most appropriate option to translate the given English sentence into Hindi :
She owed her success to my support.

(A) T8 STUT ToherdT o feTT TY T shi ol ¥ | (B) STh! TORCTdT T S X FEANT hl ST & |
(C) T H&AN & o1 o5 ST9®a Bl | (D) % T R THA G |
(E) Question not attempted

Choose the most appropriate Conjunction to fill in the blank in the following sentence.
or not my mother permits, I am going to the movie hall.

(A) Until (B) Whether o If

(D) Unless (E) Question not attempted

Select the most appropriate ANTONYM of the underlined word in the following sentence.

It is a common hypothesis that heavy taxes on cars can solve all the traffic congestions of a city.

(A) Delusion (B) Equivocation (C) Evasion
(D) Fact (E) Question not attempted

ek TE1 St © W STe- 9 1 i ¥ T ?

(=1 4 & Ao Sugert foaened )

(A) v (B) fa&= (C) H

(D) *{ (E) STgaRd e

Fill in the blank choosing the suitable Article from the options below.

I take hour to reach my office.

(A) an (B) the (C) no article
(D) a (E) Question not attempted

‘Arrge’ 1 Wi faresT €

(A) T+ TR (B) T+ TR (C) 0 + 39
(D) IR+ g¥e (E) 1qad e

£ P-2/K12 10



59. E-1 o Y G-I & e FifSw |

gei-1 (& o1s% ) TE-11 ( TS I16%)
(a) HETEE I (i)  Resolution
(b) Hehed (i)  Circular
(c) vufaafa (iif) Office-Memorandum
(d) 9T (iv) Press Note
Fr few T foremedl # | waiferes SueRt ST 1 =7 ST :
(A)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(3) (B)  (a)-(iit), (b)-(i), (c)-(iv), (d)-(ii)
(©  (@)-@), (b)-(ii), (c)-(iii), (d)-(iv) (D) (a)-(i), (b)-(iii), (c)-(iv), (d)-(3)
(E) STand v
60. Trefafad & @ HH-91 Yoo e © 2
(A) faa w1 are I (B) TGl | e giich (C) 9 3T 3T g
(D) S T SR (E) STIaRd e

61. ' STSIE g, | heaTul’ TRTer i ST o7ef o1 g ?
(A) & goIH & 2 | (B) T TRAFAMFI S| (C) T IR FH! T8 &l wd 7 |
(D) Y@ FHTAHR T 2 | (E) oTfaRa o

62. Fill in the blank in the sentence below choosing the most appropriate verb from the options given.

Many researchers conducted this experiment to prove their point.
(A) has (B) have (C) are
(D) were (E) Question not attempted

63. ‘fomiia’ oIk & fou v 19 et SEEe I ©
(A) =M (B) forim (C) 3™
(D) @™ (E) orgaia ged

64. Select the most appropriate option for the translation of the following technical term :
Circular
(A) TfeRAr (B) HRT (C) oA
(D) &N (E) Question not attempted

65. ‘TI' I facm W
(A) TR (B) W © fa
(D) 3T (E) STaid 9¥A

66. Select the most appropriate option to transform the given sentence into Reported Speech.
The traffic policeman said to him, “Show me your driving licence.”
(A) The traffic police told him to show him your driving licence.
(B)  The traffic police demanded his driving licence.
(C) The traffic police requested him to show his driving licence.
(D) The traffic police ordered him to show him his driving licence.
(E) Question not attempted
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67. Select the most appropriate option to add the correct Suffix to the underlined word in the given

sentence :

My son delivered a praise speech at the International seminar on Child Rights.
(A) worthy (B) able (C) rich

(D) ridden (E) Question not attempted

68.  Select the most appropriate verb form to fill in the blank in the following sentence.

Neither she nor I getting the Trophy this year.
(A) am (B) are (C) was
(D) is (E) Question not attempted

69. Select the most appropriate word from the options provided to fill in the blank in the given sentence.

I am not to a steaming hot cup of coffee after dinner.
(A) avert (B) averse (C) advert
(D) adverse (E) Question not attempted

70.  Select the most appropriate option to fill in the blank.

She accepted the job the low salary.
(A) though (B) in spite of (C) in case of
(D) although (E) Question not attempted

71, Trfafed # 4 &1 * FEtert 7' # T e 2
(A) wHtET (B)  Tferg=m (C) T
(D) STI&RE (E) ﬂﬂ_ﬂiia R

72.  Select the option that is the most appropriate substitute for the statement given below :
Someone who believes that there should be extreme change, often political.

(A) Radical (B) Convert (C) Fanatic
(D) Reactionary (E) Question not attempted

73.  Fill in the blank in the sentence below choosing the most appropriate word from the options given.

The little boy refused to walk any claiming that he was tired.
(A) further (B) farthest (©) far
(D) farther (E) Question not attempted

74. fr=fafea d 9 owng fafag aa g

(A) 8 gEe faer| (B) W WA 3BT ¥ | (C) HA e gmm |
(D) SR Al (E) STafa o
75. AR’ % folt yga g arel Tl 9k ¢
(A) R (B) weRH (C) fam
(D) 4, (E) Tqafa W

£ P-2/K12 12



76.

77.

78.

79.

80.

Teit-1 < 91 G -11 1 e S

el-1 (%) eI-11 (9| )

(2) (i) 8

(b) AR (i) &1

(c)  eiomaTor (i) dgEd

(d) oo (iv) gsilfe

= fRu e foshedl # | waifie SugeR ST 1 =T HiTT

(A)  (a)-(@1), (b)-(i), (o)-(il), (d)-(iv) (B)  (a)-(ii), (b)-(iid), (c)-(iv), (d)-(1)

(©)  (a)-(id), (b)-(ii), (c)-(iv), (d)-(1) (D) (a)-(v), (b)-(), (c)-(id), (d)-(ii)

(B)  STIRRd o

Complete the sentence in List - I by choosing the most appropriate prefixes from List - II.
List - I List - IT

(a) The committee met to appraise its members (i) mis
about the indiscipline cases in the school.

(b) The Covid research is now classified information. (i) de

() Thope you do not nurse any conceptions about me. (iif) re

(d) Iwas informed about the case as I was fed (iv) il

inaccurate details.
Choose the most appropriate answer from the options given below :
(A)  (a)-(i), (b)-@1), (c)-(iv), (d)-(iii) (B)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(©)  (@)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (D) (@)-(iii), (b)-(ii), (c)-(1), (d)-(iv)

(E) Question not attempted

Teit-1 < 91 G -11 1 e i

geit-1 (1R Feit-11 (P )
(2) TR ORI
(b) Ted (i) IT
(c) T&H (it) &
(d) §@ (iv) 7
= fRu e foshedl # | waifire SugeR ST 1 =T HiTT ;
(A)  (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv) (B)  (a)-(ii), (b)-(iid), (c)-(iv), (d)-(3)
(©)  (@)-(v), (b)-(i), (c)-(1), (d)-(iid) (D) (a)-(ii), (b)-(iid), (c)-(0), (d)-(iv)
(B)  STIaRE o
Select the most appropriate option to write the date in a formal letter out of the options given below :
(A) 18 February, 2024 (B) 18t Feb. 24 (C) 18.2.2024
(D) 18/02/2024 (E) Question not attempted

Select the most appropriate option to transform the given sentence to Passive Voice.
Most of the class is reading ].K. Rowling’s novel.

(A) J.K. Rowling’s novel is being read by most of the class.

(B) J.K. Rowling’s novel was being read by most of the class.

(C) J.K Rowling’s novel has been read by most of the class.

(D) ]J.K. Rowling’s novel is reading by most of the class.

(E) Question not attempted
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81.

82.

83.

84.

85.

86.

87.

HH Y oewd % qHiErerE I T8 © 2
(a) Ef@ (b) TR (c) BRI (d) @ (e)  WTTe
= faw T forhedl # | waiferes SUgeRt ST H1 =TI T :

(A) e (b) 3R (d) (B) %ad (a) 3T (c) (C) Fad (c) 3 (e)
(D) %o (a) 3R (d) (E) SFIaid e

Select the most appropriate option to fill in the blank with the correct form of verb :

Vijaya is my best friend. I her for years.

(A) have know (B) knowing (C©) had been knowing
(D) have been knowing (E) Question not attempted

“gfreren’ H T ©

(A) TEsifE (B) reHE (C) dcqe

(D) 8 (E) Safd ge

Match the underlined words in List - I with most suitable Suffixes from List - II.

List - I List - IT
(@) A country that needs to be taken care of is poverty . (i)  proof
(b) A person who can be depended upon is trust __ . (i)  conscious
(c) A bullet ___ vehicle saves lives. (iii) worthy
(d) Businessmen are very money | (iv) ridden

Choose the most appropriate answer from the options given below :
(A)  (a)-@v), (b)-(iii), (c)-(1), (d)-(ii) (B)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(3)
(©  (a)-(iid), (b)-(ii), (c)-(iv), (d)-(3) (D) (a)-(i), (b)-(1), (c)-(iii), (d)-(iv)

(E) Question not attempted

Select the most appropriate option to transform the given sentence into Reported Speech.
Ram said, “I worked with a Japanese company last month.”

(A) Ram said that he has worked with a Japanese company previous month.

(B) Ram said that he has been worked with a Japanese company last month.

(C) Ram said that he had worked with a Japanese company the previous month.

(D) Ram said that I worked with a Japanese company last month.

(E) Question not attempted

Select the most appropriate option to identify the incorrect segment in the following sentence.
The dazzle and glamour / of money and success/ have gone to her head.

(a) (b) (©)
(A) (b) only (B) (c) only (C©) No error
(D) (a) only (E) Question not attempted
Select the most appropriate option to translate the given Hindi sentence into English :
T hA YT M |
(A) Ajay is coming tomorrow. (B) Ajay will definitely come tomorrow.
(C) Ajay shall come tomorrow surely. (D) Ajay will sure come tomorrow.

(E) Question not attempted
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88.

89.

90.

91.

92.

93.

94,

95.

96.

frefafaa & 'qu’ &1 foam @

(A) = (B) @ (C) Wehe
(D) ga (E) ST 7o
‘o' HyeE
(A) = (B) o™ (©) M
(D) < (E)  STIRIe 7o
Select the most appropriate Passive form of the verb to fill in the blank in the given sentence :
By this time next week, the sound track of the film remixed by the sound technician.
(A) had been (B) is being (C) has been
(D) would have been (E) Question not attempted
Teit-1 < 91 G -11 1 e S
gEIt-1 ( SaiT ) 11 ( 9T1%)
(a) TS =1 9ot g A (i FR
(b) TRT T ITRR T et ST 4T (i) TS
(c) Toge 5= i gen & (i) =
(d) T BY STHR ! A el (iv) S
= e T faehedl # © Haitereh SuFer S 1 99T HIT :
(A)  (@)-@1), (b)-(iv), (o)-(i), (d)-(iiD) (B)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(3)
(©  (a)-(iv), (b)), (o)-Gi), (d)-6) (D) (a)-(id), (b)-(i), (O)-(iv), (d)-(iti)
(B) e e
Complete the blank using the most appropriate determiner from the options given below :
We couldn’t do shopping as the shops were being forcibly shut down by the police.
(A) few (B) lots of (©) much
(D) many (E) Question not attempted
frfafed & & =1 ‘50’ Jo@ & 90 & fffd v= § 2
(A)  siferd (B) e (C) dfew
(D) eIty (E) ST e
frfafad § 9 g a1 991 i |

(A) IR AT I@HL 3Heh TI0T Y@ W | (B) ¥R I ST IHHI 9T &1 77T |
(C) IR W | IR 107 & 77 | (D) ¥R SEH IR HT9T @ 77T |
(E) FITRA 7

Select the most appropriate synonym from the options provided for the underlined word in the given
sentence.

A good education system never seeks to INFRINGE upon the academic rights of its stakeholders.

(A) Comply (B) Encroach (C) Dissent
(D) Concur (E) Question not attempted

ofife’ w1 faam ©

(A) wa% (B) Fbm (©) ==
(D) Wi (E)  STgara s
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97.

98.

99.

100.

101.

102.

103.

104.

105.

Select the most appropriate option to fill in the blank :
When an offer is made to carry out work or supply goods with certain terms and conditions, we call it

(C) Agreement

(C) &1 T T HISH SR |

(C) deire

(C) sifqH

(C) TAfe=m

(©) IS

(©) from

(©) TN

a/an .
(A) Contract (B) Tender
(D) Notice (E) Question not attempted
frefafed ¥ 9 ss A ©
(A) feoedt # =R fRoafat g8 | (B) U1 A T Tk G |
(D) & o & = (E) STafd o
e 8 ¥ i g o g I R 2
(A)  dfere (B) dfcTss
(D) wifers (E) S 9¥A
frefafea § 9 ' o’ o 1 79 |
(A) o (B) &l
(D) erfg (E) Agaid g
e’ w1 T 3R forg e1ed ® vt fopan ST © 2
(A) R (B) uRmm
(D) T (E) Agad g
frrefafaa # i ST gad 9 78 € 2
(A) T (B) Taag=
(D) fremE (E) Agaid g
Select the most appropriate alternative to fill in the blank in the following sentence.
I like swimming large rivers.
(A) across (B) over
(D) into (E) Question not attempted
Frreafafad § @ oF g’ &1 [T 2
(A) e (B) H&Hed
(D) G (E) 3TxRd o
Te-1 W1 FeRt-11 1 e Fwifsw )
HeAl-1 (HErew ) Teh-11 (31 )
(@) SAFHATE (i) R
(b) it fe@r (i)  TR-TR fRE
(c) oo Hlem KT (iil) oS H W@
(d) @ B (iv) w@d g e

e T T faehedl # § waifereh SUFeR I 1 97 HITT :
(B)  (a)-(id), (b)-(i), (0)-(iv), (d)-(ii)
(D) (a)-@), (b)-(iii), (c)-(ii), (d)-(iv)

(A)  (@)-(iv), (b)-(ii), (c)-(1), (d)-(iii)
(©  (a)-(ii), (b)-(iv), (0)-(1), (d)-(iii)
(E) o3aia g
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106.

107.

108.

109.

110.

111.

‘Recommended for favourable consideration’

1 T &St T ©

(fr=1 ¥ @ wa@ Suga fased 99)

(A) 3T e foar & for fammfe =6t St €1 (B) fceshet weama o wifkd feham S 7 |
(C) Ii%d foaR EwR AT 7| (D) federrd yaTal st @ feer ST 2|

(E) orgaia g

Select the most appropriate option to change the following sentence into its Passive form.
I think they should have offered Hari the job.

(A) I think Hari should have been offered the job.

(B) I think Hari would have been offered the job.

(C) I think Hari had been offered the job.

(D) I think Hari should be offered the job.

(E) Question not attempted

Match List-I with List-II.

List-I (Word) List-II (Synonyms)
(a) Lethargic (i) Tactic
(b) Ploy (ii) Drag
(c) Trail (iif) Dormant
(d) Latent (iv) Indolent
Choose the most appropriate answer from the options given below :
(A)  (a)-v), (b)-(0), (o)-(id), (d)-(ii) (B) (a)-), (b)), (c)-(iv), (d)-(ii)
(©  (@)i), (b)-i), (©-(), (d-(iv) (D) (@)-(id), (b)-(iv), (0)-(it), (d)-G)

(E) Question not attempted

‘e UgR Tt § 39 a1 | gt R foRa o1 S © 2

(f1 4 @ waq Sugar faered 94)

(A) itfiren fopan (B) erhIferen foman (C) Gt fshan
(D) ¥ fn (E) FIRE 7

Select the most appropriate option to translate the given Hindi sentence into English :
TSN Teh WEH A T SIATT WG W ¥

(A) Asha has been learning to drive a car for a month.
(B) Asha has learnt to drive a car since a month.

(C) Asha had been learning to drive a car for a month.
(D) Asha has been driving a car since a month.

(E) Question not attempted

For the sentence given, choose from the options provided, the most appropriate sentence in Reported
Speech.

She said, “The receptionist directed me to the wrong room.”

(A) She said that the receptionist directed her to the wrong room.

(B) She said that she had been directed to the wrong room, by the receptionist.

(C) She said that she was directed to the wrong room.

(D) She said that the receptionist had directed her to the wrong room.

(E) Question not attempted
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112.

113.

114.

115.

116.

117.

118.

119.

120.

Choose the most appropriate Conjunction from the options given to fill in the blank in the sentence
below.

You cannot participate in the contest you clear the interview.
(A) unless (B) Dbetter (©) whereas
(D) so that (E) Question not attempted

Choose the most appropriate Affirmative form of the sentence given, from the options provided.
Hurry up so that you don’t miss your class.

(A) Miss your class, if you don’t hurry up.

(B) Hurry up, lest you should miss your class.

(C) Hurry up and don’t miss your class.

(D) Don’t hurry and don’t miss your class.

(E) Question not attempted

frAfafad § 9 STETa 979 &1 994 it |
(A) TIERS - Circular (B) FHATed SR - Office Order
(C) 218 TN T3 - Demi Official (D.O) (D) A=A - Notification

(E) STIaRd oo

frefafad 3 & Fi9 SUs 1 wiE T ?

(A) TR (B) T (©) TR
(D) = (E) oIaRd g

Choose the most suitable word to complete the following sentence :

A person who has no interest in or understanding of arts and literature is a .
(A) scholar (B) prodigious (C) philistine
(D) critic (E) Question not attempted

Select the most appropriate option to fill in the blank in the given sentence with a suitable Conjunction.
I couldn’t sleep very tired.

(A) despite being (B) in spite of I was (C) although I had
(D) despite I was (E) Question not attempted

‘Sr-fgu’ wiss g 1 3fea o1ed g 2w

(A) Srar-gieft (B) femn-<g (C) TEI-3E

(D) =E-g™ (E) oTfaRa o

Freafafea & fo sl § * oTee’ Yo T gatn & 2

(a) Tfo@m@e (b)) weRe (c) e (d) THEe (e) 3T&e

= X T faenedl & 9 waiteeh SUFeR I 1 997 HITT :

(A) & (a) 3R (o) (B) e (a) 3T (d) (C) eI (a) 3T (e)
(D) & (a) 3T (b) (E) STIafd 7o

Replace the underlined words with a single most suitable word of the same meaning from the options
given below :

I couldn’t prepare well for my exams as I was plagued by an unpleasant and painful headache the

previous night.
(A) rapid (B) excruciating (C) disoriented
(D) ensuring (E) Question not attempted
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121. ‘oshdr’ w1 fadm ©

(A) T (B) gr (C)
(D) fFer (E) FIRE 7
122. ‘98] ¥ ST Fo01 R H E R WHINGS 98 SR
(A) =g (B) =q% (©) ==
(D) =g (E) ST7aRd 9ed
123. Select the most appropriate option for the translation of the following term :
Agenda
(A) R (B) e (C)  sferger
(D) SR (E) Question not attempted

124. Choose the most appropriate option for the following question.
The sequence of a formal letter is :
(A) Sender’s Address, Date, Receiver’s Address, Subject, Salutation, Body, Complimentary close.
(B) Sender’s Address, Receiver’s Address, Salutation, Subject, Body, Complimentary close.
(C) Receiver’s Address, Date, Salutation, Subject, Body, Complimentary close.
(D) Receiver’s Address, Sender’s Address, Date, Salutation, Subject, Body, Complimentary close.
(E) Question not attempted

125. frefafed o 9 qae)’ o a1 2

(A) T HUE (B) @& (C) TR
(D) (B) oTgafa g

126. ‘CqEY’ THH & AT € ;
(a) TAX (b) HIEH (c) STUR_H (d) HHER (e)  AfHRI
= feu U foaenedl # 9 waifies Iuged ST H =99 HIT
(A) & (b), (c) R (e) (B) e (), (b) 3R (c) (C) e (b), (d) 3T ()
(D) &9 (a), (d) 3R (e) (B) oTgafa oo

127. s Wt ' qg1’ 1 Freafafed 8 @ &9 1w e 78 § 2
(A)  Teem (B) S (C) fafas
(D) TR (B) o7gaid wed

128. G-I o |1y Feit-11 1 e HifSe |

Te-1(91s%) TEl-11 ( TFi=aret 91es )

(@) (i) =
(b) Te (i) HIg
() =& (i) T
(d) TR (iv) TR
= feu U faenedl # 9 waifies Suge ST H =9FT HIT
(A)  (@)-(v), (b)-(i), (c)-(iii), (d)-(ii) (B)  (@)-(), (b)-(iv), (c)-(ii), (d)-(iii)
(©)  (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) (D) (@)-(v), (b)-(ii), (c)-(iii), (d)-(i)
(E) o1gaRd 77
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129.

130.

131.

132.

133.

134.

Select the most appropriate option to translate the given Hindi sentence into English :
o U 3T 37U hTH H & g

(A) They all will engaging in their work.

(B) They will all be busy with their own work.

(C) All will be busy in own work.

(D) All of them are busy in their works.

(E) Question not attempted

Telt-1 & 91 Feit-11 1 e SIS

eil-1 ( amerIieT ) Hel-11 (971 )
(a) TOFIHE IO (i) @
(b) RS A A (i) SR
(c) 9gd S el (iil) A

(d) Tom =t fordre SR W@ ol (iv) STRRU
e T wTu faehedl # § waifereh SUFeR I 1 97 HITST :

(A)  (a)-(iv), (b)-(iii), (c)-(), (d)-(ii) (B)  (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(©)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) (D) (a)-(i), (b)-(i1), (c)-(iii), (d)-(iv)
(E) oTqafad g

frefafea § @ =F 't g g9 s © 2

(A) R (B) TR (C) Hawt
(D) Hoeit (E) Said 9%

frefafaa & S TG Jo 63 H1 ST § 2

(A)  srufEen (B) formm (C) A
(D) T (E) STIaRd e

Fill in the blank in the sentence below choosing the most appropriate word from the options given.
Most religions follow festival specific .
(A) rites (B) rights (C) rote

(D) writes (E) Question not attempted
Tel-1 & 91 Feit-11 1 e SIS
TEit-1 (&R ) =i-11 ( fomar 92)
(a) Toreren foreneff & q&aer qgam ¥ O GEINED
(b)  GH TGH Fiell © (i) ThHE
(c) TS A HIA Rl Y&k & (iii) 3TRHR
(d) TESE (iv) Womels
= T U foened! # © waifeeh Suger ST 1 =47 HIT
(A)  (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) (B)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
Q) (a)-(id), (b)-(iii), (c)-(iv), (d)-(i) (D) (@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(E) STgard oo
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135.

136.

137.

138.

139.

140.

141.

142.

143.

Fill in the blank in the sentence below choosing the most appropriate verb from the options given.

Each of the students responsible for maintaining the school garden.

(A) were (B) is (©) must

(D) are (E) Question not attempted

Select the most appropriate option to fill in the blank with the appropriate form of the verb :
I would love to go out with you tomorrow but I dinner with Arvind.

(A) am having (B) must be having (C) do have

(D) will hardly have (E) Question not attempted

‘Defendant’ &1 T&=<1 THMIF I % :

(A) I HNTEA (B)  SAUqEt (C) yfdars

(D) FHTEE (E) STgard wed

‘A A R

(A) T (B) esife © B

(D) FHTA (E) orard wed

“This may be suitably amended’ T f&a] &ar=ul 7

(A) T8 T=d faepa I B (B) THH WY HeiEA foha ST Heha © |
(C) U HeNTed 39 foha ST | (D) Hefad o 3 3k I |

(E) STqand oo

Frefafed o 4 9 vl 9 o1 formo €

(a) Toham (b)  iferd (c) s (d) Rt (e) TEH
= fRu e foshedl # | it SugeR S 1 =T HITT :

(A) e (a), (b) R () (B) e (b), (c) 3T (d) (C) e (a), (c) AR (e)
(D) &= (b), (d) ¥R (e) (B) &gafd wed

frefafea § 9 dar-fagmm s o s U ©

(A)  TR-ATER (B) UceR-TRIS (C) HE-HIHH

(D) R-dlfheh (E) o7 g

Select the most appropriate option to transform the following Assertive sentence to an Interrogative
sentence.

Vijaya is the new English professor.

(A) Wasn't Vijaya the new English professor ? (B) Who is the new English professor ?
(C) How is Vijaya the new English professor ? (D) Isn’t Vijaya the new English professor ?

(E) Question not attempted

‘1. + Seror’ iy fa= @ 99 aTen Ik BT
(A) T (B) g (C) Fit&m
(D) T4 (E) Tgad 9
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144.

145.

146.

147.

148.

149.

150.

Select the most appropriate opposite in meaning to the underlined word in the following sentence.
He looked PEEVISH when asked why he was late.

(A) Amicable (B) Perverse (C) Diffident
(D) Irritable (E) Question not attempted

Select the most appropriate option.

When writing a formal letter, what salutation do we use if we do not know the recipient’s name ?
(A) Dear Mr./Dear Mrs. (B) Dear Sir/ Dear Madam

(C) Greetings Sir/Greetings Madam (D) Hello Sir/Hello Madam

(E) Question not attempted

Fill in the blank with the most appropriate determiner.
“What would you like to eat ?”

I don't care! you've got in the fridge, may be.
(A) Something (B) Anything (C) Nothing
(D) Everything (E) Question not attempted

Select the most appropriate option to identify the incorrect segment in the following sentence.

The judge concluded that / either the maid or the driver were / responsible for the murder.

(a) (b) (©)
(A) (b) only (B) (c) only (©) No error
(D) (a) only (E) Question not attempted

frefafead § @ -9 9 SRS § 2

(A) TR TS I = M FA Wb § 2 (B) TR UETR ST = ki Wi fem |
(C) I A T ! A | (D) UH §d T& I 9 &l ST Fehal |
(E) STgara s

frefafad 9§ 9 &9 91 ' e’ e & T o1 6 § 2

(A) = (B) Ik (C) wWEHH
(D) A (E) STIaid o

The word closest in meaning to TACITURN is :

Choose the correct option.

(A) Unexpressive (B) Garrulous (C) Unrestrained
(D) Communicative (E) Question not attempted
-00o0-
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- T
FE Ui A & uladi & - et ufa 3712 fgdier ufa, adlen @emfta oz adien wer visa & qd gRienelf 3o g @ @la) o dizie |
@) A9, gemeff zer fgelier ufd 1 sicior 78l B2 | e gTRT 3T UEIE B FHeT Tl B 3ra= URT GTAT B2, fEeier ufdy Bt Hqer gl
& Be s A A BT ATENAGAD 37191 BT geieff ) 1ot | gAemelf fadter ufea @t sraer Fmer & wor |
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